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Hp

oy
o

FAAEN $20,000
FEEH IR $20,000
Je R $20,000
e Pk $15,000
Sl g () /N H] $12,000
sk $6,000
FE $5,400
i $5,000
ek B $5,000
B S $4,800
FEEES $3,600
= A $3,000
B EFHS $3,000
LG $2,996
FhAEE $2,700
o 55 $2,700
HET $2,610
B $2,000
T $2,000
= R ERE $2,000
BEEH $1,698
FREEET $1,500
BHEERL $1,466
MREFES $1,446
Bk IE $1,401
2T $1,373
AR $1,313
FEEER $1,200
Sy $1,200
o $1,200
T I $1,200
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RET $1,047
TR $1,000
A E [l $1,000
THEE $1,000
Ee s $1,000
2T $1,000
H e $1,000
H e $1,000
FE TS $1,000
JE $1,000
BT $1,000
oY/ $1,000
JHiRE 45 $1,000
FIE e $1,000
ZH K $1,000
EtE $1,000
A $1,000
REEE $1,000
EED $1,000
i $1,000
EHRTY $1,000
e FHIEL $1,000
EHTH $1,000
ZIE $1,000
B $1,000
EZS $1,000
HE g HRLL T $1,000
A $978

PR $900

SRS $800

=0 A $300

SR atak $700
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e $700
B IDE@R) A H] 600

T EhE $600
E e - VA $600
ZXTRE $600
ZEE $600
ZLENE $600
ERi $600
G $592
ZXERA $573
fol SRR $500
JALN b/ $500
FEER $500
JEELAD $500
MRZEJE= RS $500
WREEE B85 $500
MREE $500
DR AR $500
oW/N: $500
it == T $500
LIS $500
B R () A H] $500
B R () A H] $500
FE L $500
TRHE $500
SRAT 500

Gand s $500
NS $500
SRS $500
B et 7 $500
= $500
PRFRTE $500
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=K {EH $500
= PR $500
R $500
BEH $500
TS $500
ZHS $500
i $474
TRG(E $449
FEE $400
MEE $400
SR $400
TREEEE $400
PR LA $400
BerBpiAE $400
218% $400
A $400
g $400
ZEHER $400
FREER $387
RS/ NIZE $370
Tk $367
TR A fif $350
NS $305
RIS $300
SRk $300
TRG4E $300
TR R $300
TR $300
Rer i $300
IEEMR $300
E= i $300
ZEFEIE $300
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LR $300
B $300
EERE 300

ERRE $300
BHZ $300
= $300
SRR $280
I $270
THET $250
IR, $250
K $250
ZXRE TS $250
PR H $207
+3E $200
F554 $200
IS $200
EEEa $200
{F AR $200
SREEHIERET, $200
fo] JENE $200
(] 2525 $200
SETR $200
CEEVE $200
BT $200
RIS $200
SR $200
Byl $200
R $200
ZRCH $200
A $200
&Y $200
FHE L $200
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W IN= $200
R 200

FRAIE 200

REC $200
FRoREE $200
PRREH $200
PR&diFF $200
PR I $200
FRIFRK BRES $200
e $200
RGEFE $200
BReiE $200
IS SHRAAL $200
iy $200
plEne $200
ol S $200
it N ¥ $200
it P HH $200
i = $200
JiE a0 $200
i ta 2 $200
Jii AR EH $200
T $200
it e $200
A $200
EEF:] $200
AL $200
AN $200
ALRAL $200
AT AR $200
Az $200
APk $200
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ALBHEL $200
ALERE $200
pis=pea $200
Bl 200

B $200
ZRZE0) $200
By $200
S $200
TR $200
TR E $200
TR $200
SR $200
TRR S $200
TRIEE $200
v R 45 $200
SRS $200
SR ZE $200
TREIHGE $200
GREEHH $200
IR TS $200
RS 200

TREE =) $200
PRI $200
4TS $200
FhFE1E $200
AL $200
FREAT 45 $200
Bk 2R $200
I e $200
PR 2% $200
fRIEE $200
B PETE $200
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P =22 200

BeR A A $200
e $200
Bz~ $200
s, $200
BeR SR i $200
PR R $200
LR $200
B EE S $200
=0 AL 200

IS $200
e iR $200
=yl $200
EELE $200
HEE $200
&% $200
E=gAlEs $200
g $200
-3 $200
e L $200
=1 $200
T RE S $200
o) $200
= $200
=] $200
L ra=| $200
HEE $200
FEIMIR $200
2I1ESL $200
2IF1E $200
ety $200
2P0 200
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=S $200
BEE $200
FIE $200
2 &4 $200
SN $200
SN $200
ZXERHE 200

2Rk & $200
ZEEX $200
ZEHERS $200
B SCER $200
| $200
B $200
A $200
HER $200
At $200
ST B E ) $200
S $200
BT 5y $200
BHHATE $200
PRI $200
BAIERE $200
ok 1t $200
] $200
REE $200
FRIE $200
frk e 2 $200
G R $200
i LB $200
g U $200
HEAEES $200
HHEEL $142
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sRTE $115
SR K $115
SR PE $100
IH $100
s $100
REE T $100
GRS $100
LS $100
AELE $100
Rl $100
EEs $100
e 200 $100
s E R} $100
ZAE $100
ZE I $100
HEE $100
oy $100
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